

Supplement to the agenda for

Council

Friday 3 March 2023

10.00 am

Herefordshire Council Offices, Plough Lane, Hereford, HR4 0LE

ES 3 - 18

Pages

7. UPDATED 2023/24 COUNCIL TAX SETTING REPORT AND APPENDICES 1,2 AND 5



Title of report: 2023/24 Council Tax Setting Report

Meeting: Council

Meeting date: Friday 3 March 2023

Report by: Leader of the council

Classification

Open

Decision type

Budget and policy framework

Wards affected

(All Wards);

Purpose

To set the council tax and precepts for 2023/24.

At its meeting on 10 February 2023, the council approved the net budget requirement for 2023/24 at £194.0m and an associated council tax requirement of £127.0m on a tax base of 71,073.11 band D equivalents.

As the billing authority, this report seeks approval for council tax amounts for each category of dwelling in Herefordshire including precepts from West Mercia Police, Hereford and Worcester Fire Authority and Hereford town and parish councils for the financial year 2023/24.

Recommendation(s)

That:

a) The precepting authority details included at appendices 1 to 5, relating to town and parishes, West Mercia Police and Hereford and Worcester Fire Authority be approved in accordance with sections 30(2), 34(3), 36(1) and section 40 of the Local Government Finance Act 1992 (as amended) and that the following amounts be approved for the year 2023/24 in accordance with sections 31 to 36 of the Local Government Finance Act 1992 (as amended by the Localism Act 2011):

- a. £405,393,965 being the estimated aggregate expenditure of the council in accordance with section 31A (2) of the act, including all precepts issued to it by parish councils;
- b. £273,020,000 being the estimated aggregate income of the council for the items set out in section 31A (3) of the act (including revenue support grant);
- c. £132,373,965 being the amount by which the aggregate at (a) above exceeds the aggregate at (b) calculated by the council in accordance with section 31A(4) of the act, as its council tax requirement for the year (including parish precepts); [Item R in the formula in Section 31B of the Act];
- d. £1,862.50 being the amount at (c) above divided by the amount of the council tax base calculated by the council, in accordance with section 31B of the act, as the basic amount of its council tax for the year (including parish precepts);
- e. £5,393,965 being the aggregate amount of all special items (parish precepts) referred to in section 34(1) of the act;
- f. £1,786.61 being the amount at (d) above less the result given by dividing the amount at (e) above by the amount of the council tax base calculated by the council, in accordance with section 34(2) of the act, as the basic amount of its council tax for the year for dwellings in those parts of its area to which no parish precept relates (Herefordshire Council band D council tax, excluding parishes); and
- b) It is agreed that the net tax base of 71,073.11 band D equivalent properties (being the gross tax base adjusted for an assumed collection rate) used for setting the budget requirement for 2023/24;
 - a. is allocated to band D equivalent dwellings per precept area as shown in appendix 1; and
 - b. the individual council tax allocations per valuation band of dwelling by parish (including fire and police precepts) as set out in appendix 5.

Alternative options

- 1. There are no alternative options to setting a council tax. As the billing authority, the council is required to set the overall council tax for the following financial year. Council approved the net tax base on which the precept is in part based at its meeting on 10 February 2023; the remaining precept elements are set by other authorities and the council acts as the collecting agent for those precepted sums.
- 2. Local government legislation requires the council to set council tax each financial year. It also requires that certain categories of income and expenditure and other financial information are provided in accordance with Local Government Finance Act 1992 (as amended by the Localism Act 2011).

Key considerations

3. The Local Government Finance Act 1992 (as amended by the Localism Act 2011) sets out the specific amounts to be calculated and approved. This report enables the council to meet its legislative duty and set the council tax for each category of dwellings, including the council tax requirement of the council.

- 4. Council approved a council tax increase of 4.99% (inclusive of 2% adult care precept) above the rate of council tax for 2023/24 at its meeting on 10 February 2023. The council's band D council tax for 2023/24 becomes set at £1,786.61.
- 5. The parish precepts for 2023/24 are attached at appendix 1, total £5,393,965 amounting to an average band D council tax charge of £75.89. This represents an average increase of 5.7% over 2023/24. The charge by each property band, inclusive of the council charge, is set out in appendix 2.
- 6. The precepts for the Office of the Police and Crime Commissioner for West Mercia, an increase of 5.94%, and Hereford and Worcester Fire Authority, an increase of 5.59%, are shown in appendices 3 and 4.
- 7. Appendix 5 provides the impact of all precepts on the council tax bill by detailing the total amount of council tax payable in each parish by property band.

Council Tax Calculations

8. The calculation of council tax involves several stages and the Local Government Finance Act 1992 requires figures to be calculated including and excluding parish precepts. The table below meets this requirement.

	Herefordshire	Parish	Herefordshire
	Council £	precepts £	incl. parishes
			(average) £
Estimated gross expenditure	400,000,000	<mark>5,393,965</mark>	<mark>405,393,965</mark>
LESS estimated income	(206,012,000)	Not applicable	(206,012,000)
Net budget requirement	193,988,000	Not applicable	<mark>199,381,165</mark>
LESS retained business rates	(40,614,000)	Not applicable	(40,614,000)
LESS revenue support grant	(983,000)	Not applicable	(983,000)
LESS rural services delivery grant	(6,033,000)	Not applicable	(6,033,000)
LESS social care support grant	(13,466,000)	Not applicable	(13,466,000)
LESS market sustainability & fair cost of	(2,062,000)	Not applicable	(2,062,000)
care grant			
LESS new homes bonus	(231,000)	Not applicable	(231,000)
LESS adult social care discharge fund	(951,000)	Not applicable	(951,000)
LESS services grant	(1,268,000)	Not applicable	(1,268,000)
LESS collection fund surplus	(1,400,000)	Not applicable	(1,400,000)
Council tax requirement	126,980,000	<mark>5,393,965</mark>	132,373,965
Council net tax base (band D equivalent)	71,073.11	71,073.11	71,073.11
Council tax charge at band D	1,786.61	<mark>75.89</mark>	<mark>1,862.50</mark>

Council Tax Amounts

- 9. Appendices 1 to 5 to this report contain the individual council tax amounts for each category of dwelling as required by the Local Government Finance Act 1992 and associated regulations.
- 10. The council's band D council tax for 2023/24 is £1,786.61, which is an increase of £84.91 (4.99%) compared with 2022/23.
- 11. As part of the process we are required to include precepts from other bodies that will be included on council tax bills.

- 12. The parish precepts is set out in detail in appendix 1 providing the parish precept requirement and the band D council tax charge for each parish.
- 13. The charge by each property band, inclusive of the council charge, is set out in appendix 2.
- 14. The Office of the Police and Crime Commissioner for West Mercia precept is set out in appendix 3 (£264.50 at band D).
- 15. The Hereford and Worcester Fire Authority precept is set out in appendix 4 (£94.40 at band D).
- 16. Appendix 5 provides the impact of all precepts on the council tax bill by detailing the total amount of council tax payable in each parish by property band.

Community impact

17. The council tax is levied to enable the council to resource service delivery in accordance with the corporate plan priorities established by full Council. The proposed increase could result in increasing individuals' financial difficulties; this is mitigated by providing payment options, relevant discounts and reliefs, including the council tax reduction scheme, and local assistance fund. The council provides council tax discount to care leavers and foster carers.

Environmental Impact

18. Whilst this is a decision on back office functions and will have minimal environmental impacts, consideration has been made to minimise waste and resource use in line with the council's Environmental Policy. All council tax payers are encouraged to manage their account online and to activate electronic billing.

Equality duty

19. Under section 149 of the Equality Act 2010, the 'general duty' on public authorities is set out as follows:

A public authority must, in the exercise of its functions, have due regard to the need to -

- a) eliminate discrimination, harassment, victimisation and any other conduct that is prohibited by or under this Act;
- b) advance equality of opportunity between persons who share a relevant protected characteristic and persons who do not share it;
- c) foster good relations between persons who share a relevant protected characteristic and persons who do not share it.
- 20. The public sector equality duty (specific duty) requires us to consider how we can positively contribute to the advancement of equality and good relations, and demonstrate that we are paying 'due regard' in our decision making in the design of policies and in the delivery of services. The council tax charges may have an impact on households and there are a variety of schemes in place to mitigate against a negative impact, including single person discount and council tax reduction. Further details how to make such claims can be found on the council's website.

Resource implications

21. The resources required for billing purposes are contained within existing budgets. Customers are encouraged to register online to receive their bill electronically. As in prior years, information relating to council tax, including how the money is spent, will be available online and a weblink will be included on issued bills.

Legal implications

- 22. The Local Government Finance Act 1992 (the Act) places a duty on this council, as a billing authority, to set an amount of council tax for the different categories of dwellings, according to the band in which the dwelling falls before 11 March each year (section 30 (6) of the Act).
- 23. A notice of the amount set must be published in at least one newspaper circulating in the authority's area within 21 days of the decision.
- 24. Part 3 Section 1 of the council's constitution confirms that approval of the rate of Council Tax and relevant precepts is a function of full Council.
- 25. Section 106 of the Local Government Finance Act 1992 precludes a councillor from voting on this decision as a relevant matter, if he or she has an outstanding council tax debt of over two months. If a councillor is present at this meeting he or she must disclose that section 106 applies and may not vote. Failure to comply is a criminal offence.

Risk management

26. That an incorrect precept is applied, this would result in differences between the amount collected and the amount required. Every effort is made to ensure the correct data is gathered and applied to minimise this risk.

Consultees

27. The council consulted with the public on its proposed budget for 2023/24, the outcome of this was discussed at the council meeting held on 10 February 2023. Precepting authorities conduct their own consultation as they deem appropriate.

Appendices

- Appendix 1 Herefordshire Council requirement by parish including band D equivalent
- Appendix 2 Council tax for each valuation band, by parish, without the police and fire precepts
- Appendix 3 The Office of the Police and Crime Commissioner for West Mercia precept requirement for each valuation band
- Appendix 4 Hereford and Worcester Fire Authority precept requirement for each valuation band
- Appendix 5 Council tax for each valuation band by parish, including the police and fire precepts

Background papers

None identified

Harafardahira Caupail raguiramant hu	Davich includ	ing Bond Da	au ii ralant			APPENDIX 1
<u>Herefordshire Council requirement by I</u> Parish	Parish Precept (net)	Tax Base (Band D)	2023/24 Parish Precept Basic Tax Rate (Band D)	2022/23 Parish Precept Basic Tax Rate (Band D)	% change from 2022/23 to 2023/24	Band D Charge (Parish and Herefordshire Council's Basic Rate - £1,786.61)
	£		£	£	%	£
Abbeydore & Bacton Group Parish Council	9,200.00	163.72	56.19	57.46	(2.2%)	1,842.80
Aconbury Parish Meeting	-	36.94	-	3.94	(100.0%)	1,786.61
Acton Beauchamp Group Parish Council	11,000.00	178.32	61.69	37.49	64.6%	1,848.30
Allensmore Parish Council	6,250.00	268.23	23.30	23.70	(1.7%)	1,809.91
Almeley Parish Council	16,450.00	257.45	63.90	62.99	1.4%	1,850.51
Ashperton Parish Council	9,750.00	125.30	77.81	74.51	4.4%	1,864.42
Aston Ingham Parish Council	11,007.00	211.01	52.16	48.15	8.3%	1,838.77
Avenbury Parish Council	6,450.00	117.06	55.10	46.10	19.5%	1,841.71
Aymestrey Parish Council	11,400.00	163.14	69.88	67.45	3.6%	1,856.49
Ballingham, Bolstone & Hentland Group	18,782.00	297.10	63.22	59.33	6.6%	1,849.83
Bartestree & Lugwardine Group Parish Council	52,500.00	958.98	54.75	54.90	(0.3%)	1,841.36
Belmont Rural Parish Council	60,000.00	1,302.40	46.07	46.11	(0.1%)	1,832.68
Birley with Upper Hill Parish Council	3,000.00	139.51	21.50	21.47	0.1%	1,808.11
Bishop's Frome Parish Council	25,000.00	334.18	74.81	75.63	(1.1%)	1,861.42
Bishopstone Group Parish Council	9,500.00	201.28	47.20	42.14	12.0%	1,833.81
Bodenham Parish Council	17,500.00	504.21	34.71	34.53	0.5%	1,821.32
Border Group Parish Council	7,900.00	305.67	25.84	27.82	(7.1%)	1,812.45
Bosbury and Coddington Parish Council	20,500.00	365.94	56.02	56.51	(0.9%)	1,842.63
Brampton Abbots & Foy Group Parish Council	13,552.00	227.86	59.48	59.13	0.6%	1,846.09
Bredenbury & District Group Parish Council	8,560.00	163.97	52.20	53.27	(2.0%)	1,838.81
Breinton Parish Council	13,165.00	422.56	31.16	31.16	0.0%	1,817.77
Bridstow Parish Council	8,800.00	400.13	21.99	21.11	4.2%	1,808.60
Brilley Parish Council	11,500.00	121.56	94.60	96.70	(2.2%)	1,881.21
Brimfield and Little Hereford Group Parish	45.500.00		22 - 4			
Council	15,500.00	524.69	29.54	27.94	5.7%	1,816.15
Brockhampton with Much Fawley Parish Council	3,250.00	99.15	32.78	30.66	6.9%	1,819.39
Brockhampton Group Parish Council	10,500.00	341.71	30.73	30.98	(0.8%)	1,817.34
Bromyard & Winslow Town Council	241,150.00	1,440.26	167.44	167.58	(0.1%)	1,954.05
Burghill Parish Council	21,612.00	742.29	29.12	29.98	(2.9%)	1,815.73
Callow & Haywood Group Parish Council	12,400.00	220.08	56.34	37.48	50.3%	1,842.95
Clehonger Parish Council	22,800.00	568.27	40.12	40.15	(0.1%)	1,826.73
Clifford Parish Council	8,000.00	267.71	29.88	21.96	36.1%	1,816.49
Colwall Parish Council	91,133.00	1,192.94	76.39	74.75	2.2%	1,863.00
Malvern Hills Trust (Colwall Parish Council)	55,650.00		46.65	41.60	12.1%	46.65
Cradley Parish Council	60,000.00	846.58	70.87	53.97	31.3%	1,857.48
Credenhill Parish Council	43,700.00	648.17	67.42	67.42	0.0%	1,854.03
Cusop Parish Council	8,500.00	202.15	42.05	41.54	1.2%	1,828.66
Dilwyn Parish Council	27,000.00	308.40	87.55	78.85	11.0%	1,874.16
Dinedor Parish Council	9,500.00	137.44	69.12	70.94	(2.6%)	1,855.73
Dinmore Parish Meeting	- 00 445 00	9.65	-	<u>-</u>	0.0%	1,786.61
Dormington & Mordiford Group Parish Council	22,445.00	323.05	69.48	69.31	0.2%	1,856.09
Dorstone Parish Council	6,500.00	185.14	35.11	35.06	0.1%	1,821.72
Eardisland Parish Council	40,000.00	239.07	167.32	117.32	42.6%	1,953.93
Eardisley Group Parish Council	22,500.00	526.30	42.75	38.85	10.0%	1,829.36
Eastnor & Donnington Parish Council	6,600.00	143.29	46.06	42.43	8.6%	1,832.67
Eaton Bishop Parish Council	13,250.00	193.90	68.33	69.21	(1.3%)	1,854.94
Ewyas Harold Group Parish Council	46,200.00	424.23	108.90	108.19	0.7%	1,895.51
Fownhope Parish Council	33,500.00	435.00	77.01	73.99	4.1%	1,863.62
Foxley Group Parish Council	3,750.00	160.17	23.41	15.83	47.9%	1,810.02
Garway Parish Council	17,160.00	202.98	84.54	85.83	(1.5%)	1,871.15
Goodrich & Welsh Bicknor Group Parish Council	9,427.95	276.09	34.15	34.09	0.2%	1,820.76
Hampton Bishop Parish Council	21,000.00	312.02	67.30	56.58	18.9%	1,853.91
	1 -1	22.35	-	_	0.0%	1,786.61
Hampton Charles Parish Meeting						
Hampton Charles Parish Meeting Hatfield and District Group Parish Council Hereford City Council	6,000.00 934,630.00	205.52 16,437.37	29.19 56.86	29.30 56.86	(0.4%)	1,815.80 1,843.47

Herefordshire Council requirement by F	Parish, includ	ing Band D e	quivalent			
Parish	Parish Precept (net)	Tax Base (Band D)	2023/24 Parish Precept Basic Tax Rate (Band D)	2022/23 Parish Precept Basic Tax Rate (Band D)	% change from 2022/23 to 2023/24	Band D Charge (Parish and Herefordshire Council's Basic Rate - £1,786.61)
Holmer & Shelwick Parish Council	£ 20,000.00	1,130.93	£ 17.68	£	% (2.0%)	£
Hope Mansell Parish Council	2,500.00	1,130.93	18.37	18.18 18.52	(2.8%)	1,804.29 1,804.98
Hope under Dinmore Group Parish Council	14,000.00	153.09	91.45	91.43	0.0%	1,878.06
How Caple, Sollershope & Yatton Group Parish	1 1,000.00	133.03	01.10	91.43	0.070	1,070.00
Council	8,200.00	159.37	51.45	49.00	5.0%	1,838.06
Humber, Stoke Prior & Ford Group Parish						
Council	15,000.00	298.81	50.20	41.00	22.4%	1,836.81
Huntington Parish Council	850.00	47.93	17.73	15.88	11.6%	1,804.34
Kentchurch Parish Council	8,750.00	116.48	75.12	77.34	(2.9%)	1,861.73
Kilpeck Group Parish Council	19,000.00	194.35	97.76	99.19	(1.4%)	1,884.37
Kimbolton Parish Council	11,050.00	214.04	51.63	44.35	16.4%	1,838.24
Kings Caple Parish Council	8,000.00	142.86	56.00	56.08	(0.1%)	1,842.61
Kingsland Parish Council Kingstone & Thruxton Group Parish Council	16,000.00	535.92	29.86	29.87	0.0%	1,816.47
Kingstone & Thruxton Group Parish Council Kington Rural and Lower Harpton Group Parish	18,900.00	532.58	35.49	36.34	(2.3%)	1,822.10
Council	9,000.00	236.61	38.04	38.16	(0.3%)	1,824.65
Kington Town Council	117,500.00	897.49	130.92	129.99	0.7%	1,917.53
Kinnersley and District Group Parish Council	14,601.39	259.13	56.35	52.92	6.5%	1,842.96
Lea Parish Council	20,000.00	356.71	56.07	56.63	(1.0%)	1,842.68
Ledbury Town Council	640,671.00	3,566.29	179.65	174.17	3.1%	1,966.26
Leintwardine Group Parish Council	28,735.00	450.04	63.85	63.00	1.3%	1,850.46
Leominster Town Council	663,531.00	3,652.05	181.69	164.17	10.7%	1,968.30
Linton Parish Council	14,400.00	540.31	26.65	27.86	(4.3%)	1,813.26
Little Birch Parish Council	7,000.00	101.78	68.78	66.73	3.1%	1,855.39
Little Dewchurch Parish Council	11,406.00	189.36	60.23	54.92	9.7%	1,846.84
Llangarron Parish Council	27,500.00	523.99	52.48	53.94	(2.7%)	1,839.09
Llanwarne & District Group Parish Council	11,000.00	284.69	38.64	35.24	9.6%	1,825.25
Longtown Group Parish Council	17,165.00	426.22	40.27	40.37	(0.2%)	1,826.88
Lower Bullingham Parish Council	16,500.00	594.80	27.74	21.73	27.7%	1,814.35
Luston Group Parish Council	18,000.00	394.67	45.61	40.86	11.6%	1,832.22
Lyonshall Parish Council	23,000.00	309.93	74.21	78.36	(5.3%)	1,860.82
Madley Parish Council	23,600.00	425.63	55.45	55.75	(0.5%)	1,842.06
Marden Parish Council	51,500.00	553.18	93.10	93.49	(0.4%)	1,879.71
Marstow Parish Council	9,500.00	174.81	54.34	57.03	(4.7%)	1,840.95
Mathon Parish Council	8,601.00	162.28	53.00	49.83	6.4%	1,839.61 }
Malvern Hills Trust (Mathon)	7,400.00		45.60	41.12	10.9%	45.60 }
Middleton-on-the-Hill and Leysters Group Parish	4 500 00	101.00	22.44	00.07	5.20/	4 040 05
Council Monkland and Stretford Parish Council	4,500.00 10,000.00	191.99 85.04	23.44 117.59	22.27	5.3% 0.2%	1,810.05
Moreton on Lugg Parish Council	21,750.00	338.22	64.31	117.40 66.86	(3.8%)	1,904.20 1,850.92
Much Birch Parish Council	6,750.00	425.48	15.86	16.45		1,850.92
Much Cowarne Group Parish Council	4,800.00	223.25	21.50	21.11	(3.6%) 1.8%	1,802.47
Much Dewchurch Parish Council	8,500.00	271.65	31.29	31.74	(1.4%)	1,817.90
Much Marcle Parish Council	9,920.00	306.56	32.36	30.27	6.9%	1,818.97
North Bromyard Group Parish Council	10,000.00	383.53	26.07	27.10	(3.8%)	1,812.68
Ocle Pychard Parish Council	17,500.00	263.55	66.40	66.41	0.0%	1,853.01
Orcop Parish Council	9,200.00	174.72	52.66	52.68	0.0%	1,839.27
Orleton Parish Council	31,266.00	367.67	85.04	69.95	21.6%	1,871.65
Pembridge Parish Council	24,000.00	480.60	49.94	50.17	(0.5%)	1,836.55
Pencombe Group Parish Council	18,300.00	194.50	94.09	71.45	31.7%	1,880.70
Peterchurch Parish Council	21,660.00	382.84	56.58	57.20	(1.1%)	1,843.19
Peterstow Parish council	15,200.00	201.14	75.57	51.65	46.3%	1,862.18
Pipe and Lyde Parish Council	3,980.00	145.54	27.35	27.64	(1.0%)	1,813.96
Pixley & District Parish Council	8,580.00	228.42	37.56	37.85	(0.8%)	1,824.17
Putley Parish Council	9,000.00	112.68	79.87	83.67	(4.5%)	1,866.48
Pyons Group Parish Council	16,900.00	412.95	40.93	37.41	9.4%	1,827.54
Richard's Castle (Herefordshire) Parish Council	9,500.00	134.36	70.71	71.05	(0.5%)	1,857.32

Herefordshire Council requirement by F	Parish, includ	ing Band D e	quivalent			
Parish	Parish Precept (net)	Tax Base (Band D)	2023/24 Parish Precept Basic Tax Rate (Band D)	2022/23 Parish Precept Basic Tax Rate (Band D)	% change from 2022/23 to 2023/24	Band D Charge (Parish and Herefordshire Council's Basic Rate - £1,786.61)
	£		£	£	%	£
Ross-on-Wye Parish Council	553,045.00	4,011.06	137.88	133.86	3.0%	1,924.49
Sellack Parish Council	12,000.00	126.45	94.90	88.20	7.6%	1,881.51
Shobdon Parish Council	28,806.00	334.07	86.23	79.21	8.9%	1,872.84
St. Weonards Parish Council	8,200.00	158.99	51.58	46.08	11.9%	1,838.19
Stapleton Group Parish Council	9,400.00	146.40	64.21	66.10	(2.9%)	1,850.82
Staunton-on-Wye and District Group Parish	4 000 00	242.53	40.00		,. <u> </u>	
Council	4,000.00	210.80	18.98	19.30	(1.7%)	1,805.59
Stoke Edith Parish Meeting (Chairman)	-	43.54	-	-	0.0%	1,786.61
Stoke Lacy Parish Council	11,000.00	176.07	62.48	53.37	17.1%	1,849.09
Stretton Grandison Group Parish Council	14,500.00	228.82	63.37	64.14	(1.2%)	1,849.98
Stretton Sugwas Parish Council	10,000.00	159.01	62.89	54.70	15.0%	1,849.50
Sutton Parish Council	31,500.00	402.23	78.31	74.67	4.9%	1,864.92
Tarrington Parish Council	16,500.00	226.26	72.92	74.01	(1.5%)	1,859.53
Thornbury Group Parish Council	5,500.00	196.73	27.96	27.15	3.0%	1,814.57
Titley and District Group Parish Council	10,000.00	235.02	42.55	43.04	(1.1%)	1,829.16
Upton Bishop Parish Council	18,626.00	265.57	70.14	70.08	0.1%	1,856.75
Vowchurch & District Group Parish Council	15,673.52	319.16	49.11	45.02	9.1%	1,835.72
Walford Parish Council	27,825.00	657.12	42.34	42.67	(0.8%)	1,828.95
Wellington Parish Council	24,500.00	459.27	53.35	48.47	10.1%	1,839.96
Wellington Heath Parish Council	11,500.00	247.23	46.52	43.72	6.4%	1,833.13
Welsh Newton & Llanrothal Group Parish Council	13,900.00	156.24	88.97	92.73	(4.1%)	1,875.58
Weobley Parish Council	36,944.00	496.58	74.40	73.19	1.7%	1,861.01
Weston Beggard Parish Council	4,000.00	87.42	45.76	47.20	(3.1%)	1,832.37
Weston-under-Penyard Parish Council	16,000.00	519.20	30.82	28.99	6.3%	1,817.43
Whitbourne Parish Council	13,000.00	352.32	36.90	34.27	7.7%	1,823.51
Whitchurch & Ganarew Group Parish Council	52,500.00	527.06	99.61	102.05	(2.4%)	1,886.22
Wigmore Group Parish Council	22,680.00	358.23	63.31	63.73	(0.7%)	1,849.92
Withington Group Parish Council	32,000.00	740.98	43.19	43.77	(1.3%)	1,829.80
Woolhope Parish Council	14,000.00	214.69	65.21	64.99	0.3%	1,851.82
Wyeside Group Parish Council	9,720.00	308.76	31.48	31.33	0.5%	1,818.09
Yarkhill Parish Council	8,555.00	148.31	57.68	58.76	(1.8%)	1,844.29
Yarpole Group Parish Council	29,000.00	370.09	78.36	75.39	3.9%	1,864.97
Total/Average	5,393,964.86	71,073.11	75.89	71.44	6.2%	1,862.50

Council Tax for each valuation band, by Pa	arish, withou	ut the Polic	e & Fire pre	ecepts				APPENDIX 2
DADIGU				\/AL II	ATION DANIDO			
PARISH	A	В	С	D VALUA	ATION BANDS E	F	G	Н
	£	£	£	£	£	£	£	£
Abbeydore & Bacton Group Parish Council	1,228.53	1,433.29	1,638.05	1,842.80	2,252.31	2,661.82	3,071.33	3,685.60
According Parish Meeting	1,191.07	1,389.59	1,588.10	1,786.61	2,183.63	2,580.66	2,977.68 3,080.50	3,573.22
Acton Beauchamp Group Parish Council Allensmore Parish Council	1,232.20 1,206.60	1,437.57 1,407.71	1,642.94 1,608.81	1,848.30 1,809.91	2,259.03 2,212.11	2,669.77 2,614.32	3,080.50	3,696.60 3,619.82
Almeley Parish Council	1,233.67	1,439.29	1,644.90	1,850.51	2,261.73	2,672.96	3,084.18	3,701.02
Ashperton Parish Council	1,242.94	1,450.11	1,657.26	1,864.42	2,278.73	2,693.05	3,107.36	3,728.84
Aston Ingham Parish Council	1,225.84	1,430.16	1,634.46	1,838.77	2,247.38	2,656.00	3,064.61	3,677.54
Avenbury Parish Council	1,227.80	1,432.45	1,637.08	1,841.71	2,250.97	2,660.25	3,069.51	3,683.42
Aymestrey Parish Council Ballingham, Bolstone & Hentland Group	1,237.66 1,233.22	1,443.94 1,438.76	1,650.22 1,644.30	1,856.49 1,849.83	2,269.04 2,260.90	2,681.60 2,671.98	3,094.15 3,083.05	3,712.98 3,699.66
Bartestree & Lugwardine Group Parish Council	1,227.57	1,432.17	1,636.77	1,841.36	2,250.55	2,659.74	3,068.93	3,682.72
Belmont Rural Parish Council	1,221.78	1,425.42	1,629.05	1,832.68	2,239.94	2,647.21	3,054.46	3,665.36
Birley with Upper Hill Parish Council	1,205.40	1,406.31	1,607.21	1,808.11	2,209.91	2,611.72	3,013.51	3,616.22
Bishop's Frome Parish Council	1,240.94	1,447.78	1,654.60	1,861.42	2,275.06	2,688.72	3,102.36	3,722.84
Bishopstone & District Group Parish Council Bodenham Parish Council	1,222.54 1,214.21	1,426.30 1,416.59	1,630.06 1,618.95	1,833.81 1,821.32	2,241.32 2,226.05	2,648.84 2,630.80	3,056.35 3,035.53	3,667.62 3,642.64
Border Group Parish Council	1,208.30	1,409.69	1,611.07	1,812.45	2,215.21	2,617.98	3,020.75	3,624.90
Bosbury and Coddington Parish Council	1,228.42	1,433.16	1,637.90	1,842.63	2,252.10	2,661.58	3,071.05	3,685.26
Brampton Abbots & Foy Group Parish Council	1,230.72	1,435.85	1,640.97	1,846.09	2,256.33	2,666.58	3,076.81	3,692.18
Bredenbury & District Group Parish Council	1,225.87	1,430.19	1,634.50	1,838.81	2,247.43	2,656.06	3,064.68	3,677.62
Breinton Parish Council Bridstow Parish Council	1,211.84 1,205.73	1,413.83 1,406.69	1,615.80 1,607.65	1,817.77 1,808.60	2,221.71 2,210.51	2,625.67 2,612.42	3,029.61 3,014.33	3,635.54 3,617.20
Brilley Parish Council	1,254.14	1,463.17	1,672.19	1,881.21	2,210.51	2,717.30	3,135.35	3,762.42
Brimfield and Little Hereford Group Parish Council	1,210.76	1,412.57	1,614.36	1,816.15	2,219.73	2,623.33	3,026.91	3,632.30
Brockhampton with Much Fawley Parish Council	1,212.92	1,415.09	1,617.24	1,819.39	2,223.69	2,628.01	3,032.31	3,638.78
Brockhampton Group Parish Council	1,211.56	1,413.49	1,615.42	1,817.34	2,221.19	2,625.05	3,028.90	3,634.68
Bromyard & Winslow Town Council	1,302.70	1,519.82	1,736.94	1,954.05	2,388.28	2,822.52	3,256.75	3,908.10
Burghill Parish Council Callow & Haywood Group Parish Council	1,210.48 1,228.63	1,412.24 1,433.41	1,613.98 1,638.18	1,815.73 1,842.95	2,219.22 2,252.49	2,622.72 2,662.04	3,026.21 3,071.58	3,631.46 3,685.90
Clehonger Parish Council	1,217.82	1,420.79	1,623.76	1,826.73	2,232.67	2,638.61	3,044.55	3,653.46
Clifford Parish Council	1,210.99	1,412.83	1,614.66	1,816.49	2,220.15	2,623.82	3,027.48	3,632.98
Colwall Parish Council (inc Malvern Hills Trust)	1,273.10	1,485.28	1,697.47	1,909.65	2,334.02	2,758.38	3,182.75	3,819.30
Cradley Parish Council	1,238.32	1,444.71	1,651.10	1,857.48	2,270.25	2,683.03	3,095.80	3,714.96
Credenhill Parish Council Cusop Parish Council	1,236.02 1,219.10	1,442.03 1,422.30	1,648.03 1,625.48	1,854.03 1,828.66	2,266.03 2,235.02	2,678.04 2,641.40	3,090.05 3,047.76	3,708.06 3,657.32
Dilwyn Parish Council	1,249.44	1,457.68	1,665.92	1,874.16	2,290.64	2,707.12	3,123.60	3,748.32
Dinedor Parish Council	1,237.15	1,443.35	1,649.54	1,855.73	2,268.11	2,680.50	3,092.88	3,711.46
Dinmore Parish Meeting	1,191.07	1,389.59	1,588.10	1,786.61	2,183.63	2,580.66	2,977.68	3,573.22
Dormington & Mordiford Group Parish Council	1,237.39	1,443.63	1,649.86	1,856.09	2,268.55	2,681.02	3,093.48	3,712.18
Dorstone Parish Council	1,214.48 1,302.62	1,416.90	1,619.31	1,821.72	2,226.54	2,631.37	3,036.20	3,643.44 3,907.86
Eardisland Parish Council Eardisley Group Parish Council	1,302.62	1,519.73 1,422.84	1,736.83 1,626.10	1,953.93 1,829.36	2,388.13 2,235.88	2,822.34 2,642.41	3,256.55 3,048.93	3,907.86
Eastnor & Donnington Parish Council	1,221.78	1,425.41	1,629.04	1,832.67	2,239.93	2,647.19	3,054.45	3,665.34
Eaton Bishop Parish Council	1,236.62	1,442.74	1,648.84	1,854.94	2,267.14	2,679.36	3,091.56	3,709.88
Ewyas Harold Group Parish Council	1,263.67	1,474.29	1,684.90	1,895.51	2,316.73	2,737.96	3,159.18	3,791.02
Fownhope Parish Council	1,242.41	1,449.49	1,656.55	1,863.62	2,277.75	2,691.90	3,106.03	3,727.24
Foxley Group Parish Council Garway Parish Council	1,206.68 1,247.43	1,407.80 1,455.34	1,608.91 1,663.25	1,810.02 1,871.15	2,212.24 2,286.96	2,614.47 2,702.77	3,016.70 3,118.58	3,620.04 3,742.30
Goodrich & Welsh Bicknor Group Parish Council	1,213.84	1,416.15	1,618.46	1,820.76	2,225.37	2,629.99	3,034.60	3,641.52
Hampton Bishop Parish Council	1,235.94	1,441.93	1,647.92	1,853.91	2,265.89	2,677.87	3,089.85	3,707.82
Hampton Charles Parish Meeting	1,191.07	1,389.59	1,588.10	1,786.61	2,183.63	2,580.66	2,977.68	3,573.22
Hatfield and District Group Parish Council	1,210.53	1,412.29	1,614.05	1,815.80	2,219.31	2,622.82	3,026.33	3,631.60
Hereford City Council Holme Lacy Parish Council	1,228.98 1,256.12	1,433.81 1,465.49	1,638.64 1,674.84	1,843.47 1,884.19	2,253.13 2,302.89	2,662.79 2,721.61	3,072.45 3,140.31	3,686.94 3,768.38
Holmer & Shelwick Parish Council	1,202.86	1,403.49	1,603.82	1,804.19	2,205.24	2,606.20	3,007.15	3,608.58
Hope Mansell Parish Council	1,203.32	1,403.88	1,604.43	1,804.98	2,206.08	2,607.19	3,008.30	3,609.96
Hope under Dinmore Group Parish Council	1,252.04	1,460.72	1,669.39	1,878.06	2,295.40	2,712.75	3,130.10	3,756.12
How Caple, Sollershope & Yatton Group Parish Council	1,225.37	1,429.61	1,633.83	1,838.06	2,246.51	2,654.98	3,063.43	3,676.12
Humber, Stoke Prior & Ford Group Parish Council	1,224.54	1,428.63	1,632.72	1,836.81	2,244.99	2,653.17	3,061.35	3,673.62
Huntington Parish Council Kentchurch Parish Council	1,202.89 1,241.15	1,403.38 1,448.02	1,603.86 1,654.87	1,804.34 1,861.73	2,205.30 2,275.44	2,606.27 2,689.17	3,007.23 3,102.88	3,608.68 3,723.46
Kilpeck Group Parish Council	1,256.24	1,446.02	1,675.00	1,884.37	2,303.11	2,721.87	3,140.61	3,768.74
Kimbolton Parish Council	1,225.49	1,429.75	1,633.99	1,838.24	2,246.73	2,655.24	3,063.73	3,676.48
Kings Caple Parish Council	1,228.40	1,433.15	1,637.88	1,842.61	2,252.07	2,661.55	3,071.01	3,685.22
Kingsland Parish Council	1,210.98	1,412.81	1,614.64	1,816.47	2,220.13	2,623.79	3,027.45	3,632.94
Kingstone & Thruxton Group Parish Council	1,214.73	1,417.19	1,619.65	1,822.10	2,227.01	2,631.92	3,036.83	3,644.20
Kington Rural and Lower Harpton Group Parish Council Kington Town Council	1,216.43 1,278.35	1,419.18 1,491.42	1,621.91 1,704.47	1,824.65 1,917.53	2,230.12 2,343.64	2,635.61 2,769.77	3,041.08 3,195.88	3,649.30 3,835.06
ŭ .	1,228.64	1,433.42	1,638.19	1,842.96	2,252.50	2,662.05	3,071.60	3,685.92
Kinnersley and District Group Parish Council	1,220.04	1,400.42	1,000.10	1,042.50	2,202.00	2,002.00	3,071.00	0,000.02

Council Tax for each valuation band, by Pa	ırısh, withol	ut the Polic	e & Fire pre	<u>cepts</u>				APPENDIX 2
PARISH				VALU	ATION BANDS			
PARISH	Α	В	С	D	E E	F	G	Н
	£	£	£	£	£	£	£	£
Ledbury Town Council	1,310.84	1,529.32	1,747.79	1,966.26	2,403.20	2,840.15	3,277.10	3,932.52
Leintwardine Group Parish Council	1,233.64	1,439.25	1,644.86	1,850.46	2,261.67	2,672.89	3,084.10	3,700.92
Leominster Town Council	1,312.20	1,530.90	1,749.60	1,968.30	2,405.70	2,843.10	3,280.50	3,936.60
Linton Parish Council	1,208.84	1,410.32	1,611.79	1,813.26	2,216.20	2,619.15	3,022.10	3,626.52
Little Birch Parish Council	1,236.92	1,443.09	1,649.24	1,855.39	2,267.69	2,680.01	3,092.31	3,710.78
Little Dewchurch Parish Council	1,231.22	1,436.44	1,641.64	1,846.84	2,257.24	2,667.66	3,078.06	3,693.68
Llangarron Parish Council	1,226.06	1,430.41	1,634.75	1,839.09	2,247.77	2,656.46	3,065.15	3,678.18
Llanwarne & District Group Parish Council Longtown Group Parish Council	1,216.83 1,217.92	1,419.64 1,420.91	1,622.45 1,623.90	1,825.25 1,826.88	2,230.86 2,232.85	2,636.47 2,638.83	3,042.08	3,650.50 3,653.76
Lower Bullingham Parish Council	1,217.92	1,420.91	1,612.76	1,814.35	2,232.63	2,620.73	3,023.91	3,628.70
Luston Group Parish Council	1,221.48	1,425.06	1,628.64	1,832.22	2,239.38	2,646.54	3,053.70	3,664.44
Lyonshall Parish Council	1,240.54	1,447.31	1,654.06	1,860.82	2,274.33	2,687.85	3,101.36	3,721.64
Madley Parish Council	1,228.04	1,432.72	1,637.39	1,842.06	2,251.40	2,660.75	3,070.10	3,684.12
Marden Parish Council	1,253.14	1,462.00	1,670.86	1,879.71	2,297.42	2,715.14	3,132.85	3,759.42
Marstow Parish Council	1,227.30	1,431.85	1,636.40	1,840.95	2,250.05	2,659.15	3,068.25	3,681.90
Mathon Parish Council (inc Malvern Hills Trust)	1,256.80	1,466.28	1,675.74	1,885.21	2,304.14	2,723.09	3,142.01	3,770.42
Middleton-on-the-Hill and Leysters Group Parish Council	1,206.70	1,407.82	1,608.94	1,810.05	2,212.28	2,614.52	3,016.75	3,620.10
Monkland and Stretford Parish Council	1,269.46	1,481.05	1,692.62	1,904.20	2,327.35	2,750.51	3,173.66	3,808.40
Moreton on Lugg Parish Council Much Birch Parish Council	1,233.94 1,201.64	1,439.61	1,645.26	1,850.92 1,802.47	2,262.23	2,673.55	3,084.86	3,701.84
Much Cowarne Group Parish Council	1,201.64	1,401.93 1,406.31	1,602.20 1,607.21	1,802.47	2,203.01 2,209.91	2,603.57 2,611.72	3,004.11 3,013.51	3,604.94 3,616.22
Much Dewchurch Parish Council	1,203.40	1,413.93	1,615.91	1,817.90	2,209.91	2,625.86	3,029.83	3,635.80
Much Marcle Parish Council	1,212.64	1,414.76	1,616.86	1,818.97	2,223.18	2,627.40	3,029.03	3,637.94
North Bromyard Group Parish Council	1,208.45	1,409.87	1,611.27	1,812.68	2,215.49	2,618.32	3,021.13	3,625.36
Ocle Pychard Parish Council	1,235.34	1,441.23	1,647.12	1,853.01	2,264.79	2,676.57	3,088.35	3,706.02
Orcop Parish Council	1,226.18	1,430.55	1,634.91	1,839.27	2,247.99	2,656.72	3,065.45	3,678.54
Orleton Parish Council	1,247.76	1,455.73	1,663.69	1,871.65	2,287.57	2,703.50	3,119.41	3,743.30
Pembridge Parish Council	1,224.36	1,428.43	1,632.49	1,836.55	2,244.67	2,652.80	3,060.91	3,673.10
Pencombe Group Parish Council	1,253.80	1,462.77	1,671.74	1,880.70	2,298.63	2,716.57	3,134.50	3,761.40
Peterchurch Parish Council	1,228.79	1,433.60	1,638.39	1,843.19	2,252.78	2,662.39	3,071.98	3,686.38
Peterstow Parish Council Pipe and Lyde Parish Council	1,241.45 1,209.30	1,448.37 1,410.86	1,655.27 1,612.41	1,862.18	2,275.99 2,217.06	2,689.82 2,620.17	3,103.63 3,023.26	3,724.36 3,627.92
Pixley & District Parish Council	1,216.11	1,418.80	1,621.49	1,813.96 1,824.17	2,217.00	2,634.91	3,040.28	3,648.34
Putley Parish Council	1,244.32	1,451.71	1,659.10	1,866.48	2,281.25	2,696.03	3,110.80	3,732.96
Pyons Group Parish Council	1,218.36	1,421.42	1,624.48	1,827.54	2,233.66	2,639.78	3,045.90	3,655.08
Richard's Castle (Herefordshire) Parish Council	1,238.21	1,444.59	1,650.95	1,857.32	2,270.05	2,682.80	3,095.53	3,714.64
Ross-on-Wye Parish Council	1,282.99	1,496.83	1,710.66	1,924.49	2,352.15	2,779.82	3,207.48	3,848.98
Sellack Parish Council	1,254.34	1,463.40	1,672.46	1,881.51	2,299.62	2,717.74	3,135.85	3,763.02
Shobdon Parish Council	1,248.56	1,456.66	1,664.75	1,872.84	2,289.02	2,705.21	3,121.40	3,745.68
St. Weonards Parish Council	1,225.46	1,429.71	1,633.95	1,838.19	2,246.67	2,655.16	3,063.65	3,676.38
Stapleton Group Parish Council	1,233.88	1,439.53	1,645.18	1,850.82	2,262.11	2,673.41	3,084.70	3,701.64
Staunton-on-Wye and District Group Parish Council	1,203.72	1,404.35	1,604.97	1,805.59	2,206.83	2,608.08	3,009.31	3,611.18
Stoke Edith Parish Meeting Stoke Lacy Parish Council	1,191.07 1,232.72	1,389.59 1,438.19	1,588.10 1,643.64	1,786.61 1,849.09	2,183.63 2,259.99	2,580.66 2,670.91	2,977.68 3,081.81	3,573.22 3,698.18
Stretton Grandison Group Parish Council	1,233.32	1,438.88	1,644.43	1,849.98	2,261.08	2,672.19	3,083.30	3,699.96
Stretton Sugwas Parish Council	1,233.00	1,438.50	1,644.00	1,849.50	2,260.50	2,671.50	3,082.50	3,699.00
Sutton Parish Council	1,243.28	1,450.50	1,657.71	1,864.92	2,279.34	2,693.77	3,108.20	3,729.84
Tarrington Parish Council	1,239.68	1,446.31	1,652.92	1,859.53	2,272.75	2,685.99	3,099.21	3,719.06
Thornbury Group Parish Council	1,209.71	1,411.34	1,612.95	1,814.57	2,217.80	2,621.05	3,024.28	3,629.14
Titley and District Group Parish Council	1,219.44	1,422.68	1,625.92	1,829.16	2,235.64	2,642.12	3,048.60	3,658.32
Upton Bishop Parish Council	1,237.83	1,444.14	1,650.45	1,856.75	2,269.36	2,681.97	3,094.58	3,713.50
Vowchurch & District Group Parish Council	1,223.81	1,427.79	1,631.75	1,835.72	2,243.65	2,651.60	3,059.53	3,671.44
Walford Parish Council	1,219.30	1,422.52	1,625.74	1,828.95	2,235.38	2,641.82	3,048.25	3,657.90
Wellington Parish Council Wellington Heath Parish Council	1,226.64 1,222.08	1,431.08 1,425.77	1,635.52 1,629.45	1,839.96 1,833.13	2,248.84 2,240.49	2,657.72 2,647.86	3,066.60 3,055.21	3,679.92 3,666.26
Welsh Newton & Llanrothal Group Parish Council	1,222.08	1,425.77	1,629.45 1,667.18	1,833.13	2,240.49	2,647.86	3,055.21	3,000.20
Weobley Parish Council	1,230.36	1,456.79	1,654.23	1,861.01	2,292.57	2,688.13	3,125.96	3,722.02
Weston Beggard Parish Council	1,221.58	1,425.18	1,628.78	1,832.37	2,239.56	2,646.76	3,053.95	3,664.74
Weston-under-Penyard Parish Council	1,211.62	1,413.56	1,615.50	1,817.43	2,221.30	2,625.18	3,029.05	3,634.86
Whitbourne Parish Council	1,215.67	1,418.29	1,620.90	1,823.51	2,228.73	2,633.96	3,039.18	3,647.02
Whitchurch & Ganarew Group Parish Council	1,257.48	1,467.06	1,676.64	1,886.22	2,305.38	2,724.54	3,143.70	3,772.44
Wigmore Group Parish Council	1,233.28	1,438.83	1,644.38	1,849.92	2,261.01	2,672.11	3,083.20	3,699.84
Withington Group Parish Council	1,219.86	1,423.18	1,626.49	1,829.80	2,236.42	2,643.05	3,049.66	3,659.60
Woolhope Parish Council	1,234.54	1,440.31	1,646.06	1,851.82	2,263.33	2,674.85	3,086.36	3,703.64
Wyeside Group Parish Council	1,212.06	1,414.07	1,616.08	1,818.09	2,222.11	2,626.13	3,030.15	3,636.18
Yarkhill Parish Council	1,229.52	1,434.45	1,639.37	1,844.29	2,254.13	2,663.98	3,073.81	3,688.58
Yarpole Group Parish Council	1,243.31	1,450.54	1,657.75	1,864.97	2,279.40	2,693.85	3,108.28	3,729.94

Council Tax for each valuation band, by Parish, incl	uding the P	olice & Fire	precepts				AF	PPENDIX 5
PARISH		_	•		ON BANDS	_		
	A £	B £	C £	D £	£	F £	G £	H £
Abbeydore & Bacton Group Parish Council	1,467.79	1,712.43	1,957.07	2,201.70	2,690.97	3,180.24	3,669.49	4,403.40
Aconbury Parish Meeting	1,430.33	1,668.73	1,907.12	2,145.51	2,622.29	3,099.08	3,575.84	4,291.02
Acton Beauchamp Group Parish Council	1,471.46	1,716.71	1,961.96	2,207.20	2,697.69	3,188.19	3,678.66	4,414.40
Allensmore Parish Council	1,445.86	1,686.85	1,927.83	2,168.81	2,650.77	3,132.74	3,614.67	4,337.62
Almeley Parish Council	1,472.93	1,718.43	1,963.92	2,209.41	2,700.39	3,191.38	3,682.34	4,418.82
Ashperton Parish Council	1,482.20	1,729.25	1,976.28	2,223.32	2,717.39	3,211.47	3,705.52	4,446.64
Aston Ingham Parish Council	1,465.10	1,709.30	1,953.48	2,197.67	2,686.04	3,174.42	3,662.77	4,395.34
Avenbury Parish Council	1,467.06	1,711.59	1,956.10	2,200.61	2,689.63	3,178.67	3,667.67	4,401.22
Aymestrey Parish Council	1,476.92	1,723.08	1,969.24	2,215.39	2,707.70	3,200.02	3,692.31	4,430.78
Ballingham, Bolstone & Hentland Group	1,472.48	1,717.90	1,963.32	2,208.73	2,699.56	3,190.40	3,681.21	4,417.46
Bartestree & Lugwardine Group Parish Council	1,466.83	1,711.31	1,955.79	2,200.26	2,689.21	3,178.16	3,667.09	4,400.52
Belmont Rural Parish Council	1,461.04	1,704.56	1,948.07	2,191.58	2,678.60	3,165.63	3,652.62	4,383.16
Birley with Upper Hill Parish Council	1,444.66	1,685.45	1,926.23	2,167.01	2,648.57	3,130.14	3,611.67	4,334.02
Bishop's Frome Parish Council	1,480.20	1,726.92	1,973.62	2,220.32	2,713.72	3,207.14	3,700.52	4,440.64
Bishopstone Group Parish Council	1,461.80	1,705.44	1,949.08	2,192.71	2,679.98	3,167.26	3,654.51	4,385.42
Bodenham Parish Council	1,453.47	1,695.73	1,937.97	2,180.22	2,664.71	3,149.22	3,633.69	4,360.44
Border Group Parish Council	1,447.56	1,688.83	1,930.09	2,171.35	2,653.87	3,136.40	3,618.91	4,342.70
Bosbury and Coddington Parish Council	1,467.68	1,712.30	1,956.92	2,201.53	2,690.76	3,180.00	3,669.21	4,403.06
Brampton Abbots & Foy Group Parish Council	1,469.98	1,714.99	1,959.99	2,204.99	2,694.99	3,185.00	3,674.97	4,409.98
Bredenbury & District Group Parish Council	1,465.13	1,709.33	1,953.52	2,197.71	2,686.09	3,174.48	3,662.84	4,395.42
Breinton Parish Council	1,451.10	1,692.97	1,934.82	2,176.67	2,660.37	3,144.09	3,627.77	4,353.34
Bridstow Parish Council	1,444.99	1,685.83	1,926.67	2,167.50	2,649.17	3,130.84	3,612.49	4,335.00
Brilley Parish Council	1,493.40	1,742.31	1,991.21	2,240.11	2,737.91	3,235.72	3,733.51	4,480.22
Brimfield and Little Hereford Group Parish Council	1,450.02	1,691.71	1,933.38	2,175.05	2,658.39	3,141.75	3,625.07	4,350.10
Brockhampton with Much Fawley Parish Council	1,452.18	1,694.23	1,936.26	2,178.29	2,662.35	3,146.43	3,630.47	4,356.58
Brockhampton Group Parish Council	1,450.82	1,692.63	1,934.44	2,176.24	2,659.85	3,143.47	3,627.06	4,352.48
Bromyard & Winslow Town Council	1,541.96	1,798.96	2,055.96	2,312.95	2,826.94	3,340.94	3,854.91	4,625.90
Burghill Parish Council	1,449.74	1,691.38	1,933.00	2,174.63	2,657.88	3,141.14	3,624.37	4,349.26
Callow & Haywood Group Parish Council	1,467.89	1,712.55	1,957.20	2,201.85	2,691.15	3,180.46	3,669.74	4,403.70
Clehonger Parish Council	1,457.08	1,699.93	1,942.78	2,185.63	2,671.33	3,157.03	3,642.71	4,371.26
Clifford Parish Council	1,450.25	1,691.97	1,933.68	2,175.39	2,658.81	3,142.24	3,625.64	4,350.78
Colwall Parish Council (including Malvern Hills Trust (C		1,764.42	2,016.49	2,268.55	2,772.68	3,276.80	3,780.91	4,537.10
Cradley Parish Council	1,477.58	1,723.85	1,970.12	2,216.38	2,708.91	3,201.45	3,693.96	4,432.76
Credenhill Parish Council	1,475.28	1,721.17	1,967.05	2,212.93	2,704.69	3,196.46	3,688.21	4,425.86
Cusop Parish Council	1,458.36	1,701.44	1,944.50	2,187.56	2,673.68	3,159.82	3,645.92	4,375.12
Dilwyn Parish Council	1,488.70	1,736.82	1,984.94	2,233.06	2,729.30	3,225.54	3,721.76	4,466.12
Dinedor Parish Council	1,476.41	1,722.49	1,968.56	2,214.63	2,706.77	3,198.92	3,691.04	4,429.26
Dinmore Parish Meeting	1,430.33	1,668.73	1,907.12	2,145.51	2,622.29	3,099.08	3,575.84	4,291.02
Dormington & Mordiford Group Parish Council	1,476.65	1,722.77	1,968.88	2,214.99	2,707.21	3,199.44	3,691.64	4,429.98
Dorstone Parish Council	1,453.74	1,696.04	1,938.33	2,180.62	2,665.20	3,149.79	3,634.36	4,361.24
Eardisland Parish Council	1,541.88	1,798.87	2,055.85	2,312.83	2,826.79	3,340.76	3,854.71	4,625.66
Eardisley Group Parish Council	1,458.83	1,701.98	1,945.12	2,188.26	2,674.54	3,160.83	3,647.09	4,376.52
Eastnor & Donnington Parish Council	1,461.04	1,704.55	1,948.06	2,191.57	2,678.59	3,165.61	3,652.61	4,383.14
Eaton Bishop Parish Council	1,475.88	1,721.88	1,967.86	2,213.84	2,705.80	3,197.78	3,689.72	4,427.68
Ewyas Harold Group Parish Council	1,502.93	1,753.43	2,003.92	2,254.41	2,755.39	3,256.38	3,757.34	4,508.82
Fownhope Parish Council	1,481.67	1,728.63	1,975.57	2,222.52	2,716.41	3,210.32	3,704.19	4,445.04
Foxley Group Parish Council	1,445.94	1,686.94	1,927.93	2,168.92	2,650.90	3,132.89	3,614.86	4,337.84
Garway Parish Council	1,486.69	1,734.48	1,982.27	2,230.05	2,725.62	3,221.19	3,716.74	4,460.10
Goodrich & Welsh Bicknor Group Parish Council	1,453.10	1,695.29	1,937.48	2,179.66	2,664.03	3,148.41	3,632.76	4,359.32
Hampton Bishop Parish Council	1,475.20	1,721.07	1,966.94	2,212.81	2,704.55	3,196.29	3,688.01	4,425.62

Council Tax for each valuation band, by Parish, incl	uding the P	olice & Fire	precepts				AF	PPENDIX 5
	•							
PARISH			•		ON BANDS	_		
	A £	B £	C £	D £	£	F £	G £	H £
Hampton Charles Parish Meeting	1,430.33	1,668.73	1,907.12	2,145.51	2,622.29	3,099.08	3,575.84	4,291.02
Hatfield and District Group Parish Council	1,449.79	1,691.43	1,933.07	2,174.70	2,657.97	3,141.24	3,624.49	4,349.40
Hereford City Council	1,468.24	1,712.95	1,957.66	2,202.37	2,691.79	3,181.21	3,670.61	4,404.74
Holme Lacy Parish Council	1,495.38	1,744.63	1,993.86	2,243.09	2,741.55	3,240.03	3,738.47	4,486.18
Holmer & Shelwick Parish Council	1,442.12	1,682.48	1,922.84	2,163.19	2,643.90	3,124.62	3,605.31	4,326.38
Hope Mansell Parish Council	1,442.58	1,683.02	1,923.45	2,163.88	2,644.74	3,125.61	3,606.46	4,327.76
Hope under Dinmore Group Parish Council	1,491.30	1,739.86	1,988.41	2,236.96	2,734.06	3,231.17	3,728.26	4,473.92
How Caple, Sollershope & Yatton Group Parish Council	1,464.63	1,708.75	1,952.85	2,196.96	2,685.17	3,173.40	3,661.59	4,393.92
Humber, Stoke Prior & Ford Group Parish Council	1,463.80	1,707.77	1,951.74	2,195.71	2,683.65	3,171.59	3,659.51	4,391.42
Huntington Parish Council	1,442.15	1,682.52	1,922.88	2,163.24	2,643.96	3,124.69	3,605.39	4,326.48
Kentchurch Parish Council	1,480.41	1,727.16	1,973.89	2,220.63	2,714.10	3,207.59	3,701.04	4,441.26
Kilpeck Group Parish Council	1,495.50	1,744.77	1,994.02	2,243.27	2,741.77	3,240.29	3,738.77	4,486.54
Kimbolton Parish Council	1,464.75	1,708.89	1,953.01	2,197.14	2,685.39	3,173.66	3,661.89	4,394.28
Kings Caple Parish Council	1,467.66	1,712.29	1,956.90	2,201.51	2,690.73	3,179.97	3,669.17	4,403.02
Kingsland Parish Council	1,450.24	1,691.95	1,933.66	2,175.37	2,658.79	3,142.21	3,625.61	4,350.74
Kingstone & Thruxton Group Parish Council	1,453.99	1,696.33	1,938.67	2,181.00	2,665.67	3,150.34	3,634.99	4,362.00
Kington Rural and Lower Harpton Group Parish Counc	1,455.69	1,698.32	1,940.93	2,183.55	2,668.78	3,154.03	3,639.24	4,367.10
Kington Town Council	1,517.61	1,770.56	2,023.49	2,276.43	2,782.30	3,288.19	3,794.04	4,552.86
Kinnersley and District Group Parish Council	1,467.90	1,712.56	1,957.21	2,201.86	2,691.16	3,180.47	3,669.76	4,403.72
Lea Parish Council	1,467.71	1,712.34	1,956.96	2,201.58	2,690.82	3,180.07	3,669.29	4,403.16
Ledbury Town Council	1,550.10	1,808.46	2,066.81	2,325.16	2,841.86	3,358.57	3,875.26	4,650.32
Leintwardine Group Parish Council	1,472.90	1,718.39	1,963.88	2,209.36	2,700.33	3,191.31	3,682.26	4,418.72
Leominster Town Council	1,551.46	1,810.04	2,068.62	2,327.20	2,844.36	3,361.52	3,878.66	4,654.40
Linton Parish Council	1,448.10	1,689.46	1,930.81	2,172.16	2,654.86	3,137.57	3,620.26	4,344.32
Little Birch Parish Council	1,476.18	1,722.23	1,968.26	2,214.29	2,706.35	3,198.43	3,690.47	4,428.58
Little Dewchurch Parish Council	1,470.48	1,715.58	1,960.66	2,205.74	2,695.90	3,186.08	3,676.22	4,411.48
Llangarron Parish Council	1,465.32	1,709.55	1,953.77	2,197.99	2,686.43	3,174.88	3,663.31	4,395.98
Llanwarne & District Group Parish Council	1,456.09	1,698.78	1,941.47	2,184.15	2,669.52	3,154.89	3,640.24	4,368.30
Longtown Group Parish Council	1,457.18	1,700.05	1,942.92	2,185.78	2,671.51	3,157.25	3,642.96	4,371.56
Lower Bullingham Parish Council	1,448.82	1,690.31	1,931.78	2,173.25	2,656.19	3,139.15	3,622.07	4,346.50
Luston Group Parish Council	1,460.74	1,704.20	1,947.66	2,191.12	2,678.04	3,164.96	3,651.86	4,382.24
Lyonshall Parish Council	1,479.80	1,726.45	1,973.08	2,219.72	2,712.99	3,206.27	3,699.52	4,439.44
Madley Parish Council	1,467.30	1,711.86	1,956.41	2,200.96	2,690.06	3,179.17	3,668.26	4,401.92
Marden Parish Council	1,492.40	1,741.14	1,989.88	2,238.61	2,736.08	3,233.56	3,731.01	4,477.22
Marstow Parish Council	1,466.56	1,710.99	1,955.42	2,199.85	2,688.71	3,177.57	3,666.41	4,399.70
Mathon Parish Council (includes Malvern Hills Trust (N		1,745.42	1,994.76	2,244.11	2,742.80	3,241.51	3,740.17	4,488.22
Middleton-on-the-Hill and Leysters Group Parish Counc	1,445.96	1,686.96	1,927.96	2,168.95	2,650.94	3,132.94	3,614.91	4,337.90
Monkland and Stretford Parish Council	1,508.72	1,760.19	2,011.64	2,263.10	2,766.01	3,268.93	3,771.82	4,526.20
Moreton on Lugg Parish Council	1,473.20	1,718.75	1,964.28	2,209.82	2,700.89	3,191.97	3,683.02	4,419.64
Much Birch Parish Council	1,440.90	1,681.07	1,921.22	2,161.37	2,641.67	3,121.99	3,602.27	4,322.74
Much Cowarne Group Parish Council	1,444.66	1,685.45	1,926.23	2,167.01	2,648.57	3,130.14	3,611.67	4,334.02
Much Dewchurch Parish Council	1,451.19	1,693.07	1,934.93	2,176.80	2,660.53	3,144.28	3,627.99	4,353.60
Much Marcle Parish Council	1,451.90	1,693.90	1,935.88	2,177.87	2,661.84	3,145.82	3,629.77	4,355.74
North Bromyard Group Parish Council	1,447.71	1,689.01	1,930.29	2,171.58	2,654.15	3,136.74	3,619.29	4,343.16
Ocle Pychard Parish Council	1,474.60	1,720.37	1,966.14	2,211.91	2,703.45	3,194.99	3,686.51	4,423.82
Orcop Parish Council	1,465.44	1,709.69	1,953.93	2,198.17	2,686.65	3,175.14	3,663.61	4,396.34
Orleton Parish Council	1,487.02	1,734.87	1,982.71	2,230.55	2,726.23	3,221.92	3,717.57	4,461.10
Pembridge Parish Council	1,463.62	1,707.57	1,951.51	2,195.45	2,683.33	3,171.22	3,659.07	4,390.90
Pencombe Group Parish Council	1,493.06	1,741.91	1,990.76	2,239.60	2,737.29	3,234.99	3,732.66	4,479.20
Peterchurch Parish Council	1,468.05	1,712.74	1,957.41	2,202.09	2,691.44	3,180.81	3,670.14	4,404.18

Council Tax for each valuation band, by Parish, inc	luding the P	olice & Fire	precepts				AF	PPENDIX 5
PARISH				VALUATIO	ON BANDS			
FARION	Α	В	С	D	E	F	G	Н
	£	£	£	£	£	£	£	£
Peterstow Parish council	1,480.71	1,727.51	1,974.29	2,221.08	2,714.65	3,208.24	3,701.79	4,442.16
Pipe and Lyde Parish Council	1,448.56	1,690.00	1,931.43	2,172.86	2,655.72	3,138.59	3,621.42	4,345.72
Pixley & District Parish Council	1,455.37	1,697.94	1,940.51	2,183.07	2,668.20	3,153.33	3,638.44	4,366.14
Putley Parish Council	1,483.58	1,730.85	1,978.12	2,225.38	2,719.91	3,214.45	3,708.96	4,450.76
Pyons Group Parish Council	1,457.62	1,700.56	1,943.50	2,186.44	2,672.32	3,158.20	3,644.06	4,372.88
Richard's Castle (Herefordshire) Parish Council	1,477.47	1,723.73	1,969.97	2,216.22	2,708.71	3,201.22	3,693.69	4,432.44
Ross-on-Wye Parish Council	1,522.25	1,775.97	2,029.68	2,283.39	2,790.81	3,298.24	3,805.64	4,566.78
Sellack Parish Council	1,493.60	1,742.54	1,991.48	2,240.41	2,738.28	3,236.16	3,734.01	4,480.82
Shobdon Parish Council	1,487.82	1,735.80	1,983.77	2,231.74	2,727.68	3,223.63	3,719.56	4,463.48
St. Weonards Parish Council	1,464.72	1,708.85	1,952.97	2,197.09	2,685.33	3,173.58	3,661.81	4,394.18
Stapleton Group Parish Council	1,473.14	1,718.67	1,964.20	2,209.72	2,700.77	3,191.83	3,682.86	4,419.44
Staunton-on-Wye and District Group Parish Council	1,442.98	1,683.49	1,923.99	2,164.49	2,645.49	3,126.50	3,607.47	4,328.98
Stoke Edith Parish Meeting (Chairman)	1,430.33	1,668.73	1,907.12	2,145.51	2,622.29	3,099.08	3,575.84	4,291.02
Stoke Lacy Parish Council	1,471.98	1,717.33	1,962.66	2,207.99	2,698.65	3,189.33	3,679.97	4,415.98
Stretton Grandison Group Parish Council	1,472.58	1,718.02	1,963.45	2,208.88	2,699.74	3,190.61	3,681.46	4,417.76
Stretton Sugwas Parish Council	1,472.26	1,717.64	1,963.02	2,208.40	2,699.16	3,189.92	3,680.66	4,416.80
Sutton Parish Council	1,482.54	1,729.64	1,976.73	2,223.82	2,718.00	3,212.19	3,706.36	4,447.64
Tarrington Parish Council	1,478.94	1,725.45	1,971.94	2,218.43	2,711.41	3,204.41	3,697.37	4,436.86
Thornbury Group Parish Council	1,448.97	1,690.48	1,931.97	2,173.47	2,656.46	3,139.47	3,622.44	4,346.94
Titley and District Group Parish Council	1,458.70	1,701.82	1,944.94	2,188.06	2,674.30	3,160.54	3,646.76	4,376.12
Upton Bishop Parish Council	1,477.09	1,723.28	1,969.47	2,215.65	2,708.02	3,200.39	3,692.74	4,431.30
Vowchurch & District Group Parish Council	1,463.07	1,706.93	1,950.77	2,194.62	2,682.31	3,170.02	3,657.69	4,389.24
Walford Parish Council	1,458.56	1,701.66	1,944.76	2,187.85	2,674.04	3,160.24	3,646.41	4,375.70
Wellington Parish Council	1,465.90	1,710.22	1,954.54	2,198.86	2,687.50	3,176.14	3,664.76	4,397.72
Wellington Heath Parish Council	1,461.34	1,704.91	1,948.47	2,192.03	2,679.15	3,166.28	3,653.37	4,384.06
Welsh Newton & Llanrothal Group Parish Council	1,489.64	1,737.93	1,986.20	2,234.48	2,731.03	3,227.59	3,724.12	4,468.96
Weobley Parish Council	1,479.93	1,726.60	1,973.25	2,219.91	2,713.22	3,206.55	3,699.84	4,439.82
Weston Beggard Parish Council	1,460.84	1,704.32	1,947.80	2,191.27	2,678.22	3,165.18	3,652.11	4,382.54
Weston-under-Penyard Parish Council	1,450.88	1,692.70	1,934.52	2,176.33	2,659.96	3,143.60	3,627.21	4,352.66
Whitbourne Parish Council	1,454.93	1,697.43	1,939.92	2,182.41	2,667.39	3,152.38	3,637.34	4,364.82
Whitchurch & Ganarew Group Parish Council	1,496.74	1,746.20	1,995.66	2,245.12	2,744.04	3,242.96	3,741.86	4,490.24
Wigmore Group Parish Council	1,472.54	1,717.97	1,963.40	2,208.82	2,699.67	3,190.53	3,681.36	4,417.64
Withington Group Parish Council	1,459.12	1,702.32	1,945.51	2,188.70	2,675.08	3,161.47	3,647.82	4,377.40
Woolhope Parish Council	1,473.80	1,719.45	1,965.08	2,210.72	2,701.99	3,193.27	3,684.52	4,421.44
Wyeside Group Parish Council	1,451.32	1,693.21	1,935.10	2,176.99	2,660.77	3,144.55	3,628.31	4,353.98
Yarkhill Parish Council	1,468.78	1,713.59	1,958.39	2,203.19	2,692.79	3,182.40	3,671.97	4,406.38
Yarpole Group Parish Council	1,482.57	1,729.68	1,976.77	2,223.87	2,718.06	3,212.27	3,706.44	4,447.74